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10.2 Operations 
with Matrices
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A = 1  -2
0  3

B = 
-3  4
 2  1

A + B = 

5A = 

A - B = 
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adding or subtracting matrices:

scalar multiplication:
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Solve for X:

3X + A = B
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A = -1  3
 4 -2
 5  0

B = -3  2
-4  1

AB = 

BA = 
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Matrix Multiplication

A        B    =  AB
m x n     n x p

Is matrix multiplication commutative?

x
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A = -1  3
 4 -5
 0  2

B = 1  2
0  7
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A = 1  -2
0  3

I = 1  0
0  1

AI = 

IA = 
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Identity matrix:

I = 1  0
0  1
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Solve: x1  - 2x2 + x3 = -4
          x2 + 2x3 = 4
2x1 + 3x2 - 2x3 =2
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